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In this lesson we will graph parabolas in standard form
(sometimes called "completed square form") and in
general form. We will also find the Maximum and
Minimum values of a quadratic function.

Generot Form [(x) = ax™4bxtc  (a# o)
Standord Form ) - Ly
(Completed Spuone e £)= alx-W) 4k (az9

The Maximum value of a quadratic function is the
"y-value" of the vertex of a parabola that "opens down”.
The Minimum value of a quadratic function is the
"y-value" of the vertex of a parabola that "opens up".
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